integral-2013-01-09-7p1basicintegralreview.notebook January 09, 2013

b4 ul:‘.a :J s:r-(-'an
X2 Ti,2]  obre
35. Y C + 2% ° [ J ] fw‘:lv:;i:?aud

aw | XL F
X +y 89,4+
| bx, 4&’:\2"*1 Ix
L
:WJ X 43 X -
1 bx %a&

2
z2mw| X+3 h
) 123 x"‘")" dx

"5 D ox
b J, e
2 +




integral-2013-01-09-7p1basicintegralreview.notebook January 09, 2013

?l Basic |n-l-Jrachon Rulgs
4 4x 4
J)( +q X719 % sz+q dx sz+a| d)(




integral-2013-01-09-7p1basicintegralreview.notebook

J tan 2x dx

January 09, 2013
m X \-cosx |
Cos’'y (oS CoSx
toan'x 41 = sec’y
ban'x =sed'x- |

{ cotx In(sim) d - ud zg,,c

w= Ln(sm@ _

Au:= s .cosxdX

1O\X

(Ln (s mﬂ)

P

du= cotx dx (\% 5304

+ C

_— —
ﬁ
y,




	Page 1
	Page 2
	Page 3

